Homework- Interest Bearing Accounts
Formulas for Interest Bearing Accounts:
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Use only for continuously compounded accounts
Find the amount which results from each investment:

1)  $100.00 invested at 4% compounded quarterly after a period of 2 years.

2)  $500.00 invested at 8% compounded quarterly after a period of 
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 years.

3)  $600.00 invested at 5% compounded daily after a period of 3 years.

4)  $10.00 invested at 11% compounded continuously after a period of 2 years.

5)  $100.00 invested at 10% compounded continuously after a period of 
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 years.

Find the principal needed now to get each amount:

6)  To get $100.00 after 2 years at 6% compounded monthly.

7)  To get $1000.00 after 
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 years at 6% compounded daily.

8)  To get $600.00 after 2 years at 4% compounded quarterly.

9)  To get $80.00 after 
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 years at 9% compounded continuously.

10)  To get $400.00 after 1 years at 10% compounded continuously.

11)  Find the effective rate of interest for 
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% compounded quarterly.

12)  What rate of interest compounded annually is required to double an investment in 3 

        years?

13)  Which of the two rates would yield a larger amount?  6% compounded quarterly or 
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% compounded annually.  (hint, start with $1000.00 in each case)

14)  Which of the two rates would yield a larger amount?  9% compounded monthly or

        8.8 % compounded daily.  

15)  How long does it take for an investment to double in value if it is invested at 8% per

       annum compounded monthly?  Compounded continuously?

16)  If Tanisha has $100.00 to invest at 8% per annum compounded monthly, how long will it be before she has $150.00?  If the compounding is continuous, how long will it be?

17)  How many years will it take for an initial investment of $10,000.00 to grow to $25,000.00.  Assume a rate of interest of 6% compounded continuously.

18)  What will a $90,000.00 house cost 5 years from now if the inflation rate over that period averages 3% compounded annually?

19)  Jerome will be buying a used car for $15,000.00 in 3 years.  How much money should he put aside now if he invests it at 5% compounded continuously.

20)  On January 1, Kim places $1000.00 in a certificate of deposit that pays 6.8% compounded continuously and matures in 3 months. Then Kim places the $1000.00 and the interest in a passbook account that pays 5.25% compounded monthly.  How much does Kim have on May 1?

Answers:

1) $108.29   2) $609.50  3)  $697.09  4) $12.46  5)  $125.23  6) $88.72  7) $860.72  

8) $554.09  9) $59.71  10) $361.93  11) 5.35%  12) 26%  13) 
[image: image10.wmf]1

6

4

% compounded annually  14) 9% compounded monthly  15)  104.32 months (about 8.7 years), 103.97 months (about 8.66 years)  16) 61.02 months, 60.82 months  17) 15.27 years  

18) $104,335.00  19) $12,910.62  20)  $1021.60
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